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2019

PHILOSOPHY — GENERAL
Paper : GE/CC-3
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicahle.

YEHRT FEATSLT oI [HCF |

S| (T Il AT TEd W g %30

TS LA T ove Fey Tugale (e 3ilbe Teall mm ma

F) 40 IfF wigy =7 IF
(@) oW T @ Eeme T g e R
(W) <%= =W 1 @Il e s 9% 79 W)
@) oW w @ Eeas W oy s 7

(F) % = @ @ e e <% 7 T

(<) g fWarers Aem aomm ‘ow @ W vl | —

() T 9ot (=) =EE: 930

@) (%) e (=) Teag ) e |
() ‘pv ~p T4

(W) Hoe A BTl (=) =rohiey o

(2) wellos aHaieta &) 9T @FIANDS 7F |
(T) 9F0 70T FRETPF T6 S 97 T

{w) BT o (=) FRrag om

() BT o (%) A #%s =3 |
(8) == S =@ P'- 99 ARi9atET Feifh o —

(@) @ @ ®-P T -5 (@) T @ Y-S P

(%) A9 &-P =W 9-§ &) s A

Please Turn Over



( P (3rd Sm.)-Phitosophy-G/GE/CC-3)/CBCS (2)

(6) W™ O T+ e} T $TA 914 WG A T5RA TN B 27
@) 7 (e e
(2) ks (&) wferfa

(=) e 75 9tz Y1 § (@ T wires
oE oY =¥ @S

e oo Rarerfatic)
(=) FEre Ruafas (=) =Fw e i
(3) ==y Rzt () e e
(@) T *p o q° flan =5, ©@ ~ p-a7 FerEy B WA
(@) =% (=m e
(@) o ® @
@) @ FREE wEa @i o Fe
=) p~p (=) pv ~p
@ p=~p (#) po~pl
() & CToRE I5T3 FeTen Ao FdifEe 20 R s STengrera 9 oI e 24—
(W) FETES (5 Iom (W) SASITAES (IS I6W
(B) e @it 57 (&) TS e 9w |
(B) conat v Farers st SEIE T TS (A AT 33, S1% (3§ (7Y 5, O T —
(%) SEpe] EEHE (@) wRemEhe o
() TpAT TGS @F (%) e o |
(@) Frsres ArEfes RIee fer @R S Jafey s 9hR?
kil skl
ABC T XYz
A*BC SR x*yz
ABC XYz
A8 X FEHFI T TG |
(=) Afarm =wfs (=) SEeEEea A%

() T wws ®) IR &



21

i

(3) P (3rd Sm.)-Philosoph y—G!{GE’(.'(.‘-.?)/(.‘BC.'EE]

s smakm A Swa ws (F-@ 75 ) ¢ : exd
(%) AT Tl TS [ @A A, E, [8 O 504 T G P 4] SR (RIS |

(4) 9 € THLAG WY (- 0 A1) Srramerm et FE

{31} A T50Aq Fa S (3 FES FF 9hi S
(@) Fefle e (e T AT = PR e 1% I3 ¢ SR ER HREITE R
{ @-crargle ) 3
() T HEG |
(= @ AR o7 7R
(3) 7 APE I57 AT |
() MRal sy FEks|

(&) FoIme) € T TIPITRS i< TYrTe SREmE qry T |

(&) T A, B, C o 2 ¢ X, Y, Z e &, Wi anwwiemm TerpE WeT s (- gl )
@ [AX2Y]3X>42A>Y)]
@ {[ABo>O]o{AB) o C} o (Y2 B = (C 2 Z)
@ [A =3 XY= [C7) v (A 3X)
&) (A (B vC)) o [(AB) v (AQ)]

(e} T4 Al FIT Q@ HL2Y APF (T SHEIPTE TN S|
(®) fes AfeTaT »mfE =T a0 9wl T2 TRTEA TR W I

i swaltm S 7 e { F- @ AT ) ¢
(=) a5t faraifae wte I e stomates gieRes aEa fafen 4oz o0 fafie 9 9 e
LA 514 ST HheiCd sreRsies HTa pommieg Soh e (T — ©f Siiemsa $7a1 1 e+3+30

(%) firere TeRr RT HOE T (eWbaE M4, WEY TA A @E WE— W SEe I
((F-cm fomfs ) ¢ ¢
(W) Ty W W, el o, S A wepEs o 7
(W) (AR IR W, BRI IS 77, 9K 5iE = al 7T 9F )

() EIO — Zes wegw
&) 1Al — 58 5ege |
FPlease Torn Over



( P (3rd Sm.)-Philosophy-GAGE/CC-3)/CBCS | (4)

=) (@) AR T e TeakE mee 1 Stere B e

() (AvB)>(AB) (2 Iv D= (@D (®) EoF
AvB v I FoE
S AB S~ (10 2 EwE
(= a3 @ifes MEm THTwIEs 7Y oY 2 (8x0)+9
(%) Frea ot smfe ap<n e faom =) K
[ English Version ]

The figures in the margin indicate full marks.

1. Answer gny ten questions, Choose the carrect alternative from the given alternatives in each question :

{a)

(b)

(c)

(d)

(&)

()

1=10
An argument is invalid if

(i) its premises are true but the conclusion is false.
(i) both the premises and the conclusion are false.
(i) its premises are false but the conclusion is true.

(iv) both its premises and the conclusion are true logether.

The word “some”, in a categorical particular proposition, signifies

{iy armost one (ii) at least one
(iii) both (i) and (ii) (iv) none of these.
‘pv ~ p’ is such a propositional form which is called

(i) tautology (il self-contradictory
{iii) contingent (iv) nome of these.
A negative categorical proposition distributes its

(i) subject term (i) predicate term
{1i1) both the terms (iv) neither of the terms.
The contraposition of “All § are P’ is

{i) Some non-P is not non-S (i) Some non-$ is non-P
(i) All non-P are non-§ (iv) None of these,

If O proposition is true, what will be the truth value of the corresponding A proposition?
(i) true (i) false

{ili) uncertain (iv) indeterminable.
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(g) What logical relation holds between the following two propositions?
All students are meritorious
Some students are meritorious.
(i) Contrary opposition (i}  Suob-contrary opposition
(iii) Subalternation (iv) Contradictory opposition.

(h) If *p o> q° is false, what will be the truth value of *~ p*?
(i) true (i} false

{iti) indeterminate {ivy none of these.

(i) What is the logical form of a contradictory proposition?
B p.~p () pv~p
(i) p=~p ) p>-~p.
(j) The compound proposition whose truth value is completely determined by the truth value of its parts
is called
(i) truth functional compound proposition
(ii) non-truth functional compound proposition
(iii) hypothetical compound proposition

(iv) disjunctive compound proposition.

{k) What fallacy will occur in a standard form categorical syllogism if both the premises are negative?
(i) Failacy of undistribuied middle (i) Fallacy ol lour terms

() Fallacy of negalive premises {iv} Fallacy ol ambiguous term.

(1) Which of Mill's Inductive methed has been applied in the following schematic exampie?

Antecedent Consequent
ABC e XyZ
ABC _. x'yz
A-BC —_— Xyz

- A and x are causally connected
(1) Method of Residue (i) Method of Concommitant variation
(i) Method of Agreement {iv) Method of Difference.
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2. Answer the following questions briefly (any five) 5%5

(a)

(b)
(c)
(d)

(e)

()

(2)
(h)

What do vou mean by ‘distribution of terms™? Illustrate which terms are distributed in A, E, land O
propositions,

State and explain any two differences between sentence and proposition with examples.
Explain why the simple conversion of *A’ proposition is not possible,

Transform the following sentences into logical form, express them in Boolean notation and represent
them by means of Venn diagram (any fwo) :

{1} Mermaids do not exist,
(ii} He is happy, who is honest.
(iiiy All sentenees arc not propositions.

(iv} Reperters are penerally fearless.

Explain, with suitable examples, the difference between tautelogical and self-contradictory propositional
form.

If A, B, C are true statements and X, Y, Z are lalse, determine the truth value of the following
{any rwo}

M [AX) oY 1=2[(X>A) > (A>Y)]
(i) [A>B>2O]oc(AB-Cl 2 [(¥Y 2B)2(C 7))
(i) [AXY)]3[(Co27)v(ADX)
(iv) [A. (B vC)] = [(AB) v (A.C)]
Explain with example the fallacy of itlicit major and the fallacy of illicit minor.

What is Mill's method of Difference? Fxplain with a concrete example.

Answer the following questions (anry o)

(a)

(b}

What is opposition of propositions? What arc the different forms of opposition of propositions,
according to traditional logic? How does the Boolean interpretation of categorical proposition affect
the traditional square of opposition? Discuss. 3+2+10

Test the validity of the following arguments by Venn diagram and if invalid, mention the fallacy
committed (any rhree) : 53

(i} Since philosophers are men, they are nol perlect, because no men are perfect.

(ii) Only Naivayikas are philosophers; Carvakas are not Naivayikas. Therefore, Carvakas are not
philosophers.

i) CIO - 1st Fig.
(iv) IAI - 2nd Tig.
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(c) (i) Use truth table to determine the validity or invalidity of the following arguments :

[11 (AwvB)=(AR) (1] {1 v =15 [T EF
Av B ~{Iv 1 FoE
S AB o~ .. EvF

(i) What is the truth condition of a logically equivalent statement form? {4=3)+3

{d} Explain and examine Mill*s method of agreement. 105



